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Z: 7Fo XX

=l ?E%%ETJIQ -2y - gt (Gt H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
JI=l 4 13,854,342 10,230,887 3,623,455
Albl 43,630
sl 13,810,712
& £F 2,487,681 839,226 1,648,455
Albl 43,630
4| 2,444,051
7239 D& - IF - "It 136,699 195,055 58,356
&8I - g8 58,7%4 106,950 A48,156
201 Ler23| 55,294 73,450 A 18,156
01 AtR2elt] 55,294 73,450 A 18,156
OFREIRA=EA HE 10,000,000& 10,000
(OYNE-WIE--INI=\ | ESs 1,694,000 1,6%
OgEREIN S HE 15,000,000& 15,000
OdE+=& N 17,000,000& 17,000
ORFEUBOM CIME EH S
3,600,000& 3,600
OFd2g4l =22 M
6,000,000& 6,000
OHE=SE S MH 2,000,000& 2,000
203 AR F=&lH| 1,800 1,800
03 Al FRIHRFAIY| 1,800 1,800
OF - o] Jlg gox
1,500,000 *90% 1,350
OAINY J2FA 500, 000 *90% 450
303 ZAS3 1,700 1,700
01 L& 1,700 1,700
OF M Ot0ICIH S2H Alat
1,700,000& 1,700
TRIYPEI} 4,700 4,700
201 Ler23| 3,700 3,700
01 AtR22elt] 3,700 3,700
Odtztel A= A JZ 3,700,000& 3,700
303 LAz 1,000 1,000
01 Za32 1,000 1,000
OMISE 2422 SBT AN
100,000 10X 1,000
KalAer 25t 1,000 1,000 0
303 ZAS 1,000 1,000
01 Za3 1,000 1,000
ONAMBE a2 (Z8) AlY
1,000,000& 1,000
HIACHHIEHAI =X 800 800
201 LB-2AY| 800 800
01 AtR2elt] 800 800
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OSds gt 500,000 500
Osldg Sgaad
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TEEE - M A 14,605 19,6056 /5,000
201 Zet=3h] 13,300 18,300 A5,000
01 AtR2t2|HI 13,300 18,300 25,000
o2& 20A M 11,000,000& 11,000
OMUHAE Ol 2,000,000 2,000
OTHINE Eotkte M=
300,000 300
203 gR=| 1,305 1,305
03 AIMFHRFA 1,305 1,305
OTRBBIIE 24
1,000,000 *90% 900
OTAINE R 450,000 *90% 406
T3 X& 6,850 12,050 25,200
201 er23| 5,500 11,600 26,100
01 At2t2ltl 5,500 11,600 26,100
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203 HR=AH] 1,350 450 900
03 AIMFTHRFA 1,350 450 900
O72XE B2= 1,500, 0002 *90% 1,350
Mz =& 49,950 49,950
201 et 3| 13,050 13,050
01 AtR2tc|bI 3,050 3,080
Ooglg= 65,0002 %102 %13 650
oS4z 300,000 8 2,400
02 s5=34l 10,000 10,000 0
O=RMz=tR2 A 2 10,000,000 10,000
203 HR=4AH] 5,400 5,400
03 A=A H R 5,400 5,400
O=Muz =4 6,000,000 *90% 5,400
301 22N = 31,500 31,500
08 212+1=2|044| 5,000 5,000
OFAYE EAHIO WF 5,000,000 5,000
09 2Iel=& 0| 21,500 21,500 0
OsFd =t =3 9,300,000& 9,300
OlEH =3 12,200,000& 12,200
11 #AIAHIXIE S 5,000 5,000 0
O&ad SAHIOl WF 5,000,000& 5,000
Hlat=E 2,164,262 460,215 1,704,047
OletEe - &8 132,762 228,715 A\95,953
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201 LB-2AH| 45,470 46,448 A978
01 AtR2telt] 45,470 44,090 1,380
OOl HI= 37,780
S0l A 10,350
—0ll&bA 50,0002 *90= 4,500
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FHEE 0l & 22,950
-0l & A 40,0003 *90=*33| 10,800
—0fl &kOt 45,0002 90 +33] 12,150
Aa2te|ofl &t 50,000& *702 3,500
- A O X 04 &F 14,000& 705 980
OSIIMEAHEAM HIZ 15,0002 70 1,050
Oll&HAY =g HMZE 17,0002 702 1,190
OJIZ22HEAM ME
10,0002 *702*23| 1,400
Oul&te 25MF JIZ
3,000 *702*43] 840
OFCUEHHUARIES MAXtZ S HE
1,000,000& 1,000
OFCIENU A S8 S0
70,0002 *37H 2 210
OUaEY ARE 2,000,000& 2,000
203 PYRF=&Y| 3,600 3,240 360
03 A FRIHRFAIY| 3,600 3,240 360
OME2ZE gRFa 4,000,000 x90% 3,600
301 LB F 7,960 7,400 560
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OdlSZES I ZAS
4,000,000&*13] 4,000
Oulatd =3 12,000,000& 12,000
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OS=T23te/2 A2l0l Sg2sta2t &4
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tlz|gt=s EHe - S 186,720 183,956 2,764
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A JlEa
M THE 2t
=2l olldlgl (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
& 2el 11,308,012 9,127,030 2,180,982
Gilalls] 11,308,012 9,127,030 2,180,982
oliglsl 11,308,012 9,127,030 2,180,982
801 GiHIBI 11,308,012 9,127,030 2,180,982
01 Etoiiblgl 5,000,000 4,497,030 502,970
oodisl 5,000,000,000& 5,000,000
02 XHoH - HH=HoiidlH| 4,317,847 4,630,000 A312,153
OMH M =208l 4,317 ,847,000& 4,317,847
B UHFRES 1,990, 165 0 1,990, 165
oUuERE= 1,990, 165,000& 1,990, 165
HH2AZHI(D1&4) 58,649 68,710 A10,061
=&l 58,649 68,710 10,061
JI23Hl 58,649 68,710 10,061
201 223 16,229 15,538 691
01 At22t2ltl 16,229 15,538 691
ORNE2g=3HI 8,280,000 8,280
OJlzge=d Sl 7,949,000 7,949
202 04dl 38,640 49,392 10,752
01 =LHNHI 38,640 49,392 10,752
OJl2g =80l
280,000 «23E «6E 38,640
203 =] 3,780 3,780
M FA2HARFAI 3,780 3,780
ORNSgERF=AHI 4,200,000 *90% 3,780




